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1) A substance spontaneously reacts raisi HOS
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3) A particular reaction absorbs i &', d(o

Is the AH of the reaction gositive br ne; ‘
4) A piece of gallium melts in your hand. HarborHospiceMI.org

Does gﬂliu@r release energy*

5) A piece of dry ice sublimes.
Is the sublimation gxothermig or @ Circle one.

0 6) Anionic compound is added to water and the temperature drops 10 degrees
‘ Is the Al-l@or negative? Circle one.

7) Two solutions are mixed and the test tube feels warm.
Is the AH positive 0{ n:gamg} Circle one.

8, 8) Gaseous water condenses in the sky to make a cloud.
Is the condensatio endothermic? Circle one.
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9) An exothermic reaction occurs igside of a erlynmeyer flask.
Does the reaction absorb -- ergy? Circle one.

10) (3pt) A 1.55 g piece of stainless steel absorbs 141 J of heat when its temperature

increases by 178 degrees Celsius. What is the specific heat of the steel?
Show work.
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Convert the following temperatures. Show work. P —PE 3
°C =S ('F—32) F=°C+32 Q
(L\ 11)81-0 °C = i78 OF(ZPU
A/ s10)+32
= ( 81.0)+3
(\\ 12)65 °C = 340 K (Ipt)
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('b) 13)95.00 °F = 25 °C (2p1) > (%—329
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(3\ 148100 F = _ 3004 K@ q(?' 32)
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Calculate the following (3pt each). Show work. Specific heat of water is 4.184 J/g’ C

15) How much heat is required to raise 12.0 g of water from 20.0 °C to 50.0 °C?.

0= (20) (41D () sign ok
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16) Calculate the number of joules absorbed by 55.0 grams of water if the temperature

changes from 100.0° C to 27.5° C.
q =(55,0>(418D(72 S> ¢ Weelr
q=Groose) /M

Ml

[



(\ 17)If I burn hexane (CsH.4) in a bomb calorimeter containing 465 milliliters of water,
@ ( what’s the heat released by the combustion of hexane if the water temperature rises
01 \ 35.4°C? éw‘: +
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18) Using p308, draw the eating curve for benzene. LABEL all phase changes and
Q what state is present at each place on the graph. (solid, liquid, gas). Label Axis too.
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19) Using pg. 308, calculate how many grams of methanol can be melted with 12.18 kJ
of heat? 3pt) ¢ W o4
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20) What is the most abundant greenhouse gas in the atmosphere? H’:_ O

21) According to secular environmentalists, what would be the IDEAL environment?
N fyire ._,.\,._f_,,\l- AW 4‘0\/(‘1’.,{ b-., !"\\Ah’\‘r‘\:’.
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22) What is the most likely cause for fluctuations in global warming or global cooling?
bt — A ——_-_'v‘v_‘lﬂ_mfhu-—-
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EC. 124 g silver metal reacts with 124 g oxygen to produce a single ionic compound. Write the chemical rxn,
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